  CHAPTER 6                                 VECTOR PROBLEMS                      NAME______________

1. Paul walks 4Km south,7Km west and 3Km north, 

    a, draw the diagram of his motion

    b. What is his total displacement?

    c. How far did he walk?

2. A motorboat heads due west at 17Km/h across a river whose current is south at 8m/s. Draw the vector diagram, what is the resultant vector of this?

3. An airplane is flying zero degrees at 300K/h, and the wind is blowing at 90 degrees at 40Km/h, what is the resultant velocity of the plane?

4.A boat traveling across the river at 9.2m/s. It heads straight across the river, which are 200m wide. If the current is 4m/s, what  is the resultant velocity, and how long would it take?

5. A wind of 60Km/h blows toward 40 degrees. What is the component of the winds velocity toward 90 degrees and zero degrees( p118) 

6. Two ropes are pulling on a log. Rope 1 had a force of 60N at 15 degrees. Rope 2 had a force of 30N at 20 degrees. What is the net force on the log? (p119)

7. A sign  weighs 200N and is supported by 2 chains at a 26-degree angle to each other. The sign is in equilibrium. What forces do the chains exert on the sign( p122)

